=~ 0.2 -
g A
= 2
A 0.15 =
S o
kel
’\"I’ 0.1 v
0.05]
0
-0.05 -0.05
-0.]
-0.15 -0.15
o702 ke
T 4 1 ; T IS : : t
x r ] : x . : : 1]
G T | R R FT L 1| L
of H#L&Jl 5 [ Jﬁl|ﬁ+ L
—1 2 3 -1 2 3
10 1 TPlpg)T (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamliné[f)
—=— DQM_V0001_R000000001__Global__CMSSW_ckftt502_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt502_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt50i3_RECO
g 10()E g 100:
P N R S | N B0 b
EN<10] SoEEEEPEPEY CECPEPEEPEEEEF EERERE S | SEEPEPEPEPES 3 F
(o] -
o N I S S N U
IMDTo) SRR I SR STERE | I | SRR v 99
IS ) O ST 111
co ] L
0 —1 : * :2 3
10 ! TPlpg) (PCA t%obeamliné'f)

<op/p. > (70)

............................................

..........................................

I2 3
- (PCA t%)obeamlin%)o



	Contents
	Page 1


